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Solve each system by graphing.

1)  y = 3x + 2
y = −2x − 3
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2)  y = −5x + 1
y = −x − 3
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3)  y = 3x − 1
y = −x + 3
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4)  y = 
1
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5)  y = 2x + 1
y = −2x − 3
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6)  y = x − 2
y = −2x + 1

x

y

−5 −4 −3 −2 −1 1 2 3 4 5

−5

−4

−3

−2

−1

1

2

3

4

5

7)  y = 
1
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8)  y = 5x + 4
y = −3x − 4
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9)  y = 
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10)  y = 3x − 3
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Solve each system by substitution.

11)  −x − y = 3
y = −5x − 3

12)  y = −3x + 2
−x − 5y = 4
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13)  y = 7
−6x + 2y = −10

14)  y = 3x − 10
9x − 3y = 30

15)  4x + 3y = 11
y = −5x
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Solve each system by graphing.

1)  y = 3x + 2
y = −2x − 3
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2)  y = −5x + 1
y = −x − 3
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3)  y = 3x − 1
y = −x + 3
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4)  y = 
1

4
x − 3

y = −
5

4
x + 3

x

y

−5 −4 −3 −2 −1 1 2 3 4 5

−5

−4

−3

−2

−1

1

2

3

4

5

(4, −2)



©H G2k0G1U7w GKPuStXaw ISwoPfqtTwLaQreeC lL`L\Cf.m A IAil[la CrjiugJhttDsh xrLebsKeirbv\eud\.m U QMmacdveE hwciwtmht HIynsfniKnFi^tQea IAGlIgseVbur^at k1P.

Worksheet by Kuta Software LLC
-3-

5)  y = 2x + 1
y = −2x − 3
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6)  y = x − 2
y = −2x + 1
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8)  y = 5x + 4
y = −3x − 4
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9)  y = 
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10)  y = 3x − 3
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Solve each system by substitution.

11)  −x − y = 3
y = −5x − 3

(0, −3)

12)  y = −3x + 2
−x − 5y = 4

(1, −1)
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13)  y = 7
−6x + 2y = −10

(4, 7)

14)  y = 3x − 10
9x − 3y = 30

Infinite number of solutions

15)  4x + 3y = 11
y = −5x

(−1, 5)


